SITEID : TokyoTech-Canon (Tokyo Institute of Technology, Canon Corporation, submission ID: TokyoTech-Canon_1)
Experiment ID :TokyoTech-Canon_MED11_MEDI1TEST_MEDFull_AutoEAG_c-GSSVMap-r3_1

Events Processed : E006 (Birthday Party), EOO7 (Changing a vehicle tire), EOO8 (Flash mob gathering),

E009 (Getting a vehicle unstuck), E010 (Grooming an animal), EO11 (Making a sandwich), EO12 (Parade),

EO13 (Parkour), E014 (Repairing an appliance), EO15 (Working on a sewing project)

Scoring Parameters|Cost False Alarm|Cost Miss|Prob. of Target
Value 1 80 0.001

Analysis Report|#Ref| #Sys|#CorDet|#FA|#Miss| Act. PFA| Act. PMiss|Act. NormCost|Min PFA|Min PMiss|Min NormCost|Det. Score

E006| 186|31821 103 527 83| 0.0167 0.4462 0.6543| 0.0091 0.5215 0.6356|  0.6090

E007| 111|31821 58 227 53| 0.0072 04775 0.5669| 0.0078 0.4595 0.5563|  0.5907

E008| 132|31821 104 290 28| 0.0092 0.2121 0.3264| 0.0083 0.2197 0.3237|  0.7477

E009| 95/|31821 67| 379 28| 0.0119 0.2947 04439 0.0135 0.2526 0.4207|  0.6153

E010| 87/31821 35| 293 52| 0.0092 0.5977 0.7130f 0.0134 04713 0.6389|  0.5686

EO11| 140|31821 66| 427 74| 0.0135 0.5286 0.6969| 0.0139 0.5143 0.6873|  0.5815

E012| 231|31821 146| 370 85| 0.0117 0.3680 0.5142| 0.0103 0.3723 0.5004|  0.6256

EO013| 104|31821 77| 402 27| 0.0127 0.2596 04179 0.0089 0.2885 0.3995|  0.6262

E014| 78|31821 38| 118 40 0.0037 0.5128 0.5592| 0.0090 0.3077 04198  0.6204

EO015| 81/31821 34| 223 47| 0.0070 0.5802 0.6680| 0.0067 0.5802 0.6644|  0.6139

DET for TokyoTech-Canon_1 : TokyoTech-Canon_HED11_HED11TEST_HEDFull_AutoEAG_c-GSSVYHap-r3_1
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